Into to Proofs With Algebra Notes

Given: 4(x+y)=48; y=6 Given: 2(4-x)-5x=78
Prove: x=6 Prove: x=-10
Given: 5x-3=52 Given: -6(x-2)+4(3-6x)=-36

Prove: x=11 Prove: x=2
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Practice

2. Solve for n. S+ 4) In
Given: XY = 42 X £ Y
X2+ 2Y = XY a. !
3n+4) + 3n = 42 b, "
3n+ 12 + 3n = 42 el
r + 12 = 42 d. Vo
tn = 30 e.
n=2>5 1
4. 5(x + 3) = —4 Griven
Sc + 15 = —4 a. |
5¢ = —19 h. !
= 14 . 7
.1 - .cl Ll- L]

Name the property that justifies each statement.

5. /7 =77 6. 2(3x + 3) = bx + 10
7.0f12x = 84, thenx = 7. 8. If ST = QR then OR = ST.
9 IfmsA =15 then3msA = 45, 1. XY =XV
11. If 3x + 14 = 80, then 3x = 66, 12. If KI. = MN, then MN = K.
13.1f2x + v =5andx = v, 4. 1f AR — BC = 12,

then 2x + x = 5. then AB = 12 + BC.
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Given: AC=21 2y ay5 Given: mZAOC=139 .
Prove: y=6 A B c Prove: x=43
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